Series SHA prain HOSE ASSEMBLIES

Cis

Oil Change Systems

We Make Oil Changes
Fast, Clean, and Safe



The SHA Series Drain Hose Assembly Kits Include:
* The SHA Hose Assembly (727 long) with o Banjo connection crimped on one end. The opposite end is blank to
allow cutting of exact length at assembly.
* The Qil Pon Banjo Bolt Set which includes o Bonjo Bolt, two (2) Seals, o Spocer and an Oilpon Gaosket.

» A Reusoble Upper Hose End Kit for the service connection end which comes complete with an 150 Coupler
{Part # DADST), Coupler Dust Cover (Parf # DAOSE), and Hose End (Port # HFT07).

* The oil resistant drain hose which is reinferced with o high tensile steel broid ond hos o temperature rating thot
exceeds 225° F. This moterial exceeds SAE 10081, has a minimum bend rodius of 3-1/2 inches and o working
pressure rating in excess of 2000psi.

MNOTE: CAP drain hose assemblies and components are intended only for oilpan drain purposes. Please
consult factory about any other inftended uses.

The Connector Mounting Bracket is not included because of the many possible variations. Please specify this from
parts listing on the bock poge.

SHA Drain Hose Assemblies
Inch Tapered PIPE Thread Series

METRIC Straight Thread Series

Thread Type Thread Thread Type Thread
1.D. No. and Size Type 1.D. No. and Size Type
SHATDIM M4 X 1.25 Matric SHASDSP 1/27.14 NPT NPT
SHATOAM M14 % 1.50 Matric SHASDAP 3/47-14 NPT NPT
SHATOTM M6 X 1,50 Malric SHASDGM 1%-11.5 MPT HPT
SHALD M MTE X 1,50 Matric SHASQ7P 1 1/4°-11.5 NPT NPT
SHASDZM M25 ¥ 1,50 Matric
SHASOEM M0 X .50 Meabric )
SHAS O M4 % 1,50 Mearic British Parallel PIPE Thread Series
| SHAST 1M M26 X 1,50 Matric | [sHAs01E | 3/8°-19 BPPT o179 |
SHAS1ZM M2 X 1.50 Maric
SHAS] IM MZD X 2.50 Meatric
Metric 150 6149 O-Ring Ports
SHAZD-IS0 MZ0 X 1.50 50 6147
. SHAZ2-150) M2 X 1,50 50 6147
Inch Straight Thread Series e e e
SHAZDSA, /1618 Inch
SHAZOAA, 5/8°. 18 Inch
SHABD A 3/4°.16 Inch
SHABDA 3/47-16 with Aluminum Qilpan Inch Inch 5""ﬂ|g|‘“’ SAE J-1926 'D-liing Port Series
SHABDZA /4724 Inch SHAT0-SAE 7/8"-14 with O-Ring SAE 10 SAE 11926
SHASD1A 1"18 Inch SHATZ-SAE 1 1/16" - 12 with O-Ring SAE 12 SAE 11926
SHASDAA 7/8°18 Inch SHAT4-SAE 1 3/16" - 12 with O-Ring SAE 14 SAE 11926
SHASDYA 7/8°-14 Inch SHAL4-SAF 1 5/16" - 12 with O-Ring SAE 16 SAE 11926
SHAS 44 I 1/812 Inch SHAZ0-SAE 1 5/8" - 12 with O-Ring SAE 20 SAE 11926

Other odoptors ond sizes are available

Banjo Bolt Tightening Information: Because of the diversity of oilpan constructions and materials, CAP is unoble

to list applicable torque values. Please refer to the engine manufacturer's specifications for torque wrench values
used to tighten cilpon drain plugs and vse these specs. to tighten the Banjo Bolts in place.

CAP maonufactures Bonjo Bolts from AlSI type 12014 steel which hos o hardness of 1460 Brinell ond an ultimate
strength of 80 K51,

For assistance in determining drain plug sizes or sizes not shown please call CAP
for an Applications Engineer af (888) 387-4973.




RECOMMENDED INSTALLATION PROCEDURE
For SHA Hose Assembly

All Drain Hose Assemblies, Banjo Belis and other fittings are infended to be installed by professional
mechanics using state-of-the-art professional tools in goed condition. Creative Automotive Praducts has
attempted to be helpful by publishing or distributing technical bulletfins that will assist the professional.
Your questions, comments and recommendations are always welcome. Please contact us by phone at
(888) 397-4973 or e-mail us at sales@capoilchangesystems.com

Bulkhead I STEP 1: Select the desired location for the upper mouniing bracket and coupling.
Connector = STEP 2: Determine the hose route 1o the oil pon drain lecofion. Be sure that the
routing clears all exhaust pipes, manifalds and sther HOT componants by
— ,‘_ﬂ_“"""‘- 150 Coupler ot laast 4-5 inchas ond thot the hose doas net intertere with ony stearing

linkoges or other moving ports.

STEP 3: After oscerfaining that the reuting is opprogriote, maunt Ceupling
Mounting Brocket to wehicle.

STEP 4: Assemble Bonjo Bolt, without Seals, Spocer and Qilpon Gosket, Hond
tighten bolt only.

TN

STEP 5: Run blonk and of hosae to Mounting Bracket ond mork [or measura) for
proger length. PFlease reod Bulletin # TECH 7%-2 “Hose Instollotion
Considerations” and allow for flexing of hose during engine movemeni.

Straight
Brocket

STEP &: Cut hose to proper length. If hosa cutting ag I..Ilpmi:l"ﬂ‘ s not owaila hle:_, a
hocksow is suitable. Do ot vse o shear or scissor fype cutting

devlce (These Irﬂas of cutfing devices will deform the wire
reinforcement in the hose wal i}

STEP 7: Instoll reusoble hose end, See CAP Hose End Installatien Techinal
Bullatin # 99.1

— 120" Bracket
—— Q0" Brackel

STEP 8: Assemble hose fitling inte Moeunting Bracket and secure with 150
Cougler. Hond tighten only,

Coupler STEF #: Foute hose o previcusly plonned ond secure to ailpan with Banjo Bolr,
Dust Cover Saals, Spocer and Qilpon Gosket, Corafully position os desired and
tighten Bonjo Bolt fo specificotions with torque wrench.

STEP 10: Remove Coupler freom Mounting Broclked

STEP 17: Install logp of coupler covar over thread, Beplece thread baock in
Mounting Brocket,

STEP 12: ReoHach |50 Coupler and tighten securaly.

STEP 13: Refill with preper engine oil and chedk for leaks ot engine operoting
temperature.

Optional
20° Bulkheod
Connector

Typical Qilpan

Frome
ar Wall

e s i lpan Gosket »

T e,

Bolt Seals ———

Basic Hose
Assembly —" gt Seal—7

Basic Hose Assembly Banjo Boll

Banjo Type

Drain Plug
Adapter Type



Drain Hose Mounting Accessories and Options

- 2

172" and 378" Hase Size
Plastic Coated Laop Clamp

Stroight Mounting Bracked
[(Part # DAZOT)

207 Mounting Bracket E

(Part # DA302)

1207 Mounting Bracket

(Part # DA300)

.“TI
Ciptionol 90° Bulkheod
Union Connector Assembly

(Part # DA303)

(Part # HF105)
Other Cost Saving Products Available

B2 o || S5 Onmn || SRR g‘“r’?j'““‘ Sl j"

P A ore Similiskiows, = Fomer o Tl s m o] st Smlpacli .

Hph dlefiler b o Freddeen gk Tl Sorvine Prosbibms Mg Py ward ¢ Joebhwn
T1-28 TT-28MB OD-28 FH-28
Engine Oil Exiractor with Fluid Level Indicabor Z¥ilyFluid Disponser Fluid Handlar/Filter
E8D  cnen |[EBY remwere] [ €RD CRD e e
Harem LI ety | E [y r—t E I"-"'r‘ 0 Ene e 2
o & ]
..h‘!l l Cooh
=<\
B j The LHA
i 1P
:'-i.-f o Ul |
o e Rl fa §ome | ared Vot .|.|- -_-... [ TR T p"'l:jlf I:'llt Mr-&] . Lams |:| [
Quick Coupler SATELLIT Series JHA Series LHA Qil Change
Droin PILIQS Portoble Service Tonks Crain Hose Assambly Drain Hose Assembly Accessories

Additional Innovative Products are Currently Being Developed

« il Change Systems
- " 1543 Brownlee Ave., Roanoke, VA 24014
Toll Free: 888-387-4973
. . Toll Free Fax: 888-387-4981
Your Authorized Factory Dealer Is:

www.capoilchangesystems.com

Coraleg SHA-0R05 -‘\1

Made in LUSA

'n\‘_ All of aur products are mode in the US4 and are worranied for maotersals and workmanship for two years

vy




	SHA-1.pdf
	SHA-2.pdf
	SHA-3.pdf
	SHA-4.pdf

